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3 H = AFH 2= 0| ArSd o1 INESS s
= 7 > 66,000,000 1,263,100 17.07 %
A 0 0 0 0.00 %
op i s | 2B 0 0 0 0.00 %
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e 0 0 0 0.00 %
A 2 66,000,000 11,263,100 17.07 %
sz} | LEE > 66,000,000 11,263,100 7.07 %
NS Diasgs 0 0 0 0.00 %
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A 0 0 0 0.00 %
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R P 0 0 0 0.00 %
SIE 0 0 0 0.00 %
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= ! 3 1,939,578,000 1,939,578,000 100.00 %
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O] AIHE SZ2E (912 O, 2, %)
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O Mg 8= FIBSYH

MEXIALY - 100 AHY
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o EHSEIIAN - 20 A/

Os X (B2 o, A, %)
3 H = AFOH 4= 0 AFSd OH NES s

= A 3 66,000,000 65,275,000 98.90 %

e, gt 3| A 3 66,000,000 65,275,000 98.90 %

o B o= w8 A 0 0 0 0.00 %

Il 2 0 0 0 0.00 %

O AIE sZ20 (51O, 2, %)

3 H H AR OH 4= 0| AFS oH NESL ST

= A 3 66,000,000 65,275,000 98.90 %

A 1 25,000,000 25,000,000 100.00 %

o memm | LEEIH 1 25,000,000 25,000,000 100.00 %
=TAY )

JIEISE s 0 0 0 0.00 %

b= 0 0 0 0.00 %

A 2 41,000,000 40,275,000 98.23 %

Meiorarm o) | 2EHE10 2 41,000,000 40,275,000 98.23 %
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o2 0 0 0 0.00 %

A 0 0 0 0.00 %
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bjE=] 0 0 0 0.00 %




O] AOIXINA &eHZ 0t
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O 2022 XBHADL © 8,467840H21 (0|28, 147 S6l320)
Os X o9l o, A, %)
3 H =& AN 0 AFSd OH NES s
= 2 1 9,968,048,530 8,467 ,306,490 84.94 %
e, gt 3| A 1 9,968,048,530 8,467 306,490 84.94 %
a0 8B = g 5 o 0 0 0 0.00 %
Il 2 0 0 0 0.00 %
L A2 S5 Sl W, 2, %)
3 H = AN Of AFS OH NESL s
= A 1 9,968,048,530 8,467 306,490 84.94 %
A 0 0 0 0.00 %
obm = x x| LB 0 0 0 0.00 %
=ZIALY B
JIEISE s 0 0 0 0.00 %
pJ= 0 0 0 0.00 %
A 0 0 0 0.00 %
Msoyssmo) | LEHEII 0 0 0 0.00 %
Abed _
JIErSE 5| H 0 0 0 0.00 %
pJ= 0 0 0 0.00 %
A 1 9,968,048,530 8,467 306,490 84.94 %
Tzic=s) | LEE 1 9,968,048,530 8,467 306,490 84.94 %
A )
JIEISE s 0 0 0 0.00 %
12 0 0 0 0.00 %
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- HABHSDIOl HOIX| A HES 94.66%2
Os X (S o, A, %)
3 H & AFSOH 4= 0 AFSd OH X=H ST
= 2 1 50,000,000 47,327,800 94.66 %
o Bt 3| A 1 50,000,000 47,327,800 94.66 %
o B o= w8 A 0 0 0 0.00 %
Il 2 0 0 0 0.00 %
[ Atede 258 (191 : H, R, %)
3 H = AFOH 2= Of AFS OH NESL s
= A 1 50,000,000 47,327,800 94.66 %
A 0 0 0 0.00 %
QNS =M QB3| A| 0 0 0 0.00 %
=ZIALY )
JIEISE3 0 0 0 0.00 %
12 0 0 0 0.00 %
A 1 50,000,000 47,327,800 94.66 %
Meiorarmo) | 2EE1 1 50,000,000 47,327,800 94.66 %
Ab —
JIEISE3 0 0 0 0.00 %
bl 0 0 0 0.00 %
A 0 0 0 0.00 %
T c=sl | 2ers 0 0 0 0.00 %
AR )
JIEISE s 0 0 0 0.00 %
bjE=] 0 0 0 0.00 %
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Os X (S o, A, %)
3 H =& Al 0 AFSd OH NES s
= 2 1 2,115,748,000 2,003,897, 740 95.66 %
o gt 3| A 1 2,115,748,000 2,003,897, 740 95.66 %
o B o= w8 A 0 0 0 0.00 %
Il 2 0 0 0 0.00 %
O AIE sZ20 (912 O, 2, %)
3 H = AFOH 4= 0 ArSd o NESL s
= A 1 2,115,748,000 2,003,897, 740 95.66 %
A 0 0 0 0.00 %
o memm | LEEH 0 0 0 0.00 %
=TAY )
JIEISE s 0 0 0 0.00 %
pJ= 0 0 0 0.00 %
A 1 2,115,748,000 2,003,897, 740 95.66 %
Meiorarm o) | 2EE1 1 2,115,748,000 2,003,897, 740 95.66 %
Ab —
JIEISE3 0 0 0 0.00 %
pJ= 0 0 0 0.00 %
A 0 0 0 0.00 %
Tixc=sl | 2ers 0 0 0 0.00 %
Ab )
JIEISE s 0 0 0 0.00 %
b= 0 0 0 0.00 %
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Os X (B2 o, A, %)
3 H = AFOH 4= 0 AFSd OH NES s

= A 1 50,000,000 49,969, 190 99.94 %

e, gt 3| A 1 50,000,000 49,969,190 99.94 %

o B o= w8 A 0 0 0 0.00 %

Il 2 0 0 0 0.00 %

O AIE sZ20 (51O, 2, %)

3 H H AR OH 4= 0| AFS oH NESL ST

= A 1 50,000,000 49,969, 190 99.94 %

A 0 0 0 0.00 %

o memm | LEEIH 0 0 0 0.00 %
=TAY )

JIEISE s 0 0 0 0.00 %

b= 0 0 0 0.00 %

A 1 50,000,000 49,969, 190 99.94 %

Meiorarm o) | 2EHE10 1 50,000,000 49,969, 190 99.94 %
At _

JIEISE3 0 0 0 0.00 %

o2 0 0 0 0.00 %

A 0 0 0 0.00 %

Il'ilrll'i‘”%il' %'t\ﬂiDﬂ O 0 O 000 %
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JIEISE3 0 0 0 0.00 %
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O Y02 SIst HE| SHEAI OrAlY 2P| XCIHM AIHS XIEZHOZ EvES
O0sEHE (S o, A, %)
3 N e NI/ BN O Ak oH JNETL ZEE
= Al 1 1,716,615,020 1,334,870,724 77.76 %
o Bt 3 p:| 1 1,716,615,020 1,334,870,724 77.76 %
J| El = = 3| Al 0 0 0 0.00 %
J| = 0 0 0 0.00 %
[ A" ==H (EH21 2 OH, &, %)
3 H H AR OH 4= 0| AFS oH A=SH ST
= p:| 1 1,716,615,020 1,334,870,724 77.76 %
AH 0 0 0 0.00 %
opmexm | LS 0 0 0 0.00 %
=R )
JIErSES| 0 0 0 0.00 %
2 0 0 0 0.00 %
A 1 1,716,615,020 1,334,870,724 77.76 %
Heosrm )} LEES|H| 1 1,716,615,020 1,334,870,724 77.76 %
Ak _
JIErSEE| A 0 0 0 0.00 %
12 0 0 0 0.00 %
AH 0 0 0 0.00 %
II’XIBHI%?—I’ %wiljﬂ O O O OOO %
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JIEISE S 0 0 0 0.00 %
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Os &2 =2 S oH, 2, %)
o o ysE
= 3 50,000,000 49,953,270 99.91 %
] 3 50,000,000 49,953,270 99.91 %
o B 3 0 0 0.00 %
pl =) 0 0 0.00 %
O] AFRE DM, R, %)
oo N HAME

50,000,000 49,953,270 99.91 %
0 0 0.00 %
ot T 0 0 0.00 %
FaNE 0 0 0.00 %
0 0 0.00 %
50,000,000 49,953,270 99.91 %
ioiarm o} 50,000,000 49,953,270 99.91 %
R P 0 0 0.00 %
0 0 0.00 %
0 0 0.00 %
RIS S 3 0 0 0.00 %
Ae 0 0 0.00 %
0 0 0.00 %




